SH7ERERF S ERE
KEDFPTSAVE (FEHE. 256 50/MERE)

FEKRE (%)

ERT - TRETAT 653%¥A__6H6%4a
ERR® 0 0
ZE5 - AR Z8H 0 0
J=hii) 0 0
Z2R]- A 0 0
[P B E 0 0
ZE40 - FIERED =1 8] 0 1.0
- =5 misas P 0 0.5
[ L] 0 0
Ze4]] - BTG ED pldedyi 0 0
Z25]1- FFEED P 0 0
ENh 0 0
Ze- b 22 SBEE] 0 0
s Gl 0 0
ZER0- L2240 SF 0 0
Z=4] S 0 0.1
IRl 0 0
B AR FiEh 0 0
BpET 0 0
a5 AT T 0 0
T EI 0 0
Eéﬂ]‘ jtuB %ﬁﬁ,%,iﬁ 0 0
aFE-dCEs ¥ 0 0
[SEE3E] 0 0
L EH] 0 0
i | PBIR-SABIR JEEE] 0 0
= HHDHE] 0 2.0
AB9R - A0 P 0 0.7
fBiE ¥ 0 0.7
— BB - AR et 0 0
B A 0 0
ES ¥ 0 .
e S JZREDBT 0 0
L I APr ¥ 0 0
g V- SEH 0 0
&1l -6Ep R 0
el -IEEs ¥ 0 0
[EE3E] 0 0
TEJ 11/ 0 0
AP AT 0 0
Jeial i) 0 0
EIIT-7RF P 0 0
L HI-ER% | FEREFE | 0 0
il - EEH 115 0 0
TRl 0 0
ENI-ER =M 0 3.0
R3p0T 0 0
FIIT-£31 P8 0 0.8
-5 £ 5h 0 0
REEEZZ 0 0
IREZZ 0 0.2
EBHH - AP ﬁm 8 8
— BBHf - AP JINRET
== LB 0 0
BBoA - AT P 0 0
2 71 0 0
ESTT] 0 0
#B7E - 207 SRBIE 0 0
D AZEB] (42 0 0
WE =% 75 0 0
e BE IINEIKET 0 0
WEEE T 0 0
A-y) SE 0 0
. EN 0 0.5
+85 - AP FRIK 0 0
15 A 0 0.3
=RI8T 0 10.0
B 5D E2tEA] 0 0
ST 0 0
+15-=Es 7Y 0 3.3
s B - LD ZABIH] 0 0
B - RItE 0 0
) 0 0
B~ 16Ep AT 0 0
il 0 0
15 -1t 0 0
- HHSE] 0 0
+% EEIB ;%7}(33] 0 0
T 5 Fagb F1g 0 0
5 8 0 1.3
ESCEERE] 0 0.4



